MA322-007 Jan 22 quiz

Name:
Ta + 5933 = 0
HW1.3( #9) Write this system of equations as a single equation of vectors: 4xy + 622 — z3 =0
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HW1.3(#13) Write b as a linear combination of the columns of A where
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1.4b(HW1.3#:22} Give an example of a matrix A and a vector b so that the equation AR = b
has no solution.
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(a) Balance this reaction: Cs3Hg + Oy — -~ COy+ H,O
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(b) Find scalars z1, 2o, 23, and @4 (not all zero) so that
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(¢) Solve the equations : 8xg = 214
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{d) Row reduce this matrix: I |
30 -1 ~0|0 |
8 ¢ -0 —2|0
0 2 =2 —-1]0.
30 ~1~0]0 10-1/3 0|0 10-1/3 0 100 -1/4|0
Hiut:{SOOQ{}}%%%[DD 8/3 —20]%/—223»{01 112 ]%lowﬁmo]
02-2-1]0 2 “ ! 01 -1-1/2|0 2T 00 1-3/4 2has 001 —3/4(0
{;) e Ry * /r
"\ A
‘i? E l 5 iy
N4 X, =~y Xy ~C
-2 =D
: ‘ Xq= g Xy
. {e) What is the general solution?
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